AR BEFAS it
1412 26
[7—<]
Q=%k<
> SUNNY FISH o~
A
Menu Set | Cycle sRBA Distance| Time
W-up.1 BECRARLYTF . ZOHYH AKX
W-up.2 200 1 1 400" so—)L 200  0:04:00
P 50 5 1 120 25m Ky4& )L/ ya—)L 250  0:06:40
Main-S1 50 10 1 1700 () 25md > A/ AL 500 0:10:00
Main-S2 50 8 1 055 (@ FER1/3 400 0:07:20
Main-S3 50 6 1 05" B 300  0:05:00
Main-P1 50 10 1 100" @ 25m3d D> A/ EFE 500  0:10:00
Main-P2 50 8 1 05" & MER1/3 400 0:07:20
Main-P3 50 6 1 050" ® 300 0:05:00
D—-2—-Q LARMIL
R—@ LAM%
@—-B—-0® L AL
P 200 1 1 400" TJ4—35 200  0:04:00
Down 100 1 1 300" & H 100  0:03:00
Total 3150 | 1:02:20

W-up: 9A4A—LT7Yv7 S:AAL P: 7). K:FvHY Main-S: AL AAL Down: &>




RE3F BEAN P9
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O=%ik<
> SUNNY PISH »—~~
B
Menu Set | Cycle sRBA Distance| Time
W-up.1 BECRARLYTF . ZOHYH AKX
W-up.2 200 1 1 400" sO—)L 200  0:04:00
P 50 4 1 125 25m Ky4& )L/ ya—)L 200  0:05:40
Main-S1 50 10 1 105" 1D 25m3T> GIER/ EMFER 500  0:10:50
Main-S2 50 8 1 100" (@ MEK1/3 400  0:08:00
Main-S3 50 5 1 055 250  0:04:35
Main-P1 50 10 1 105" @ 25m3 D AR/ EER 500  0:10:50
Main-P2 50 8 1 100 & FEK1/3 400  0:08:00
Main-P3 50 5 1 055" ® 250  0:04:35
D—-2—-Q LARMIL
B—@ LAMM%S
@—-B—-0® L AL
P 150 1 1 300" TA—34 150  0:03:00
Down 100 1 1 300" &8 100  0:03:00
Total 2950 1:02:30

W-up: 9A4A—LT7Yv7 S:AAL P: 7). K:FvHY Main-S: AL AAL Down: &>




AR BEFAS it
1412 26
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Q=%k<
> SUNNY FISH o~
C
Menu Set | Cycle sRBA Distance| Time
W-up.1 BECRARLYTF . ZOHYH AKX
W-up.2 200 1 400" so—)L 200  0:04:00
P 50 1 130" 25m Ky4& )L/ ya—)L 200  0:06:00
Main-S1 50 1 115" Q) 25md D> HIER/ ZIFR 400  0:10:00
Main-S2 50 1 110" @ FER1/3 350  0:08:10
Main-S3 50 1 105" B 250  0:05:25
Main-P1 50 1 115" @ 25m9 D> AL/ ZEIER 400  0:10:00
Main-P2 50 1 110”7 & FER1/3 350  0:08:10
Main-P3 50 1 105" ® 250  0:05:25
D—-2—-Q LARMIL
R—@ LAM%
@—-B—-0® L AL
P 100 1 230" TJ4—35 100  0:02:30
Down 100 1 300" o= 100  0:03:00
Total 2600 | 1:02:40

W-up: 9A4A—LT7Yv7 S:AAL P: 7). K:FvHY Main-S: AL AAL Down: &>




AR BEFAS it
1412 26
[7—<]
Q=%k<
> SUNNY PISH »—~~
D
Menu Set | Cycle sRBA Distance| Time
W-up.1 BECRARLYTF . ZOHYH AKX
W-up.2 150 1 400" so—)L 150  0:04:00
P 50 1 1407 25m Ky4& )L/ ya—)L 200 0:06:40
Main-S1 50 1 1725”7 Q) 25m9 D HEEL}/ AR 350 0:09:55
Main-S2 50 1 1207 @ FER1/3 300  0:08:00
Main-S3 50 1 115" B 200  0:05:00
Main-P1 50 1 125" @ 25m9 D> AN/ EIER 350  0:09:55
Main-P2 50 1 120" & MHK1/3 300  0:08:00
Main-P3 50 1 17157 ® 200  0:05:00
D—-2—-Q LARMIL
R—@ LAM%
@—-B—-0® L AL
P 100 1 300" TJ4—35 100  0:03:00
Down 100 1 300" o= 100  0:03:00
Total 2250 | 1:02:30

W-up: 9A4A—LT7Yv7 S:AAL P: 7). K:FvHY Main-S: AL AAL Down: &>




